for 0 = 0; uli] - a > j; j+) {
printf ('X™);

if ( ) {
= L1} " -
printf (".");
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Test#2:13007

2/28/2018

7. A zero region with index (0, 1, 2, 3) less

than the number of non-zero regions — 1.

We can’t make the first region zero-length,
°s0 the region index must be at least 1,

°and the number of non-zero regions
must be at least 3.

Let’s make a tight fit (a corner case), too...
Test #3:1 0 2 3 8, which should
print "X XX XXX\n".
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false false regions 3 & 4

false true region 2

true false not covered

true true region 1
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Let’s try the last test...

Test #1: 1 2 3 4 12, which should fail.
Test #2:1 3 0 0 7, which should
print". .. _X_..\n".
Test #3:1 0 2 3 8, which should
print "X _ XX . XXX\n".
The code fails the third test!

ECE 220: Computer Systems & Programming ©2018 Steven S. Lumetta. All rights reserved.

slide 28






